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1.You configured an 802.11n AP to use the 2.4 GHz frequency band and 20 MHz channel width. 
In this scenario, how many non-overlapping channels are available for clients to use in Europe? 
A. 11 
B. 4 
C. 1 
D. 6 
Answer: B 
 
2.Which SLE would you use to determine Wi-Fi interference? 
A. AP Uptime 
B. Roaming 
C. Successful Connects 
D. Capacity 
Answer: D 
Explanation: 
Reference: https://www.mist.com/documentation/service-level-expectations-sle/ 
 
3.Which device is responsible for roaming decisions? 
A. user 
B. client 
C. controller 
D. AP 
Answer: B 
Explanation: 
Reference: http://wifinigel.blogspot.com/2015/03/what-are-sticky-clients.html 
 
4.When using the Mist Cloud with Mist APs, which statement is correct? 
A. User data is terminated in the cloud and run through a firewall. 
B. User data is compressed and terminated in the cloud. 
C. User data is terminated in the cloud and forwarded. 
D. User data is bridged locally. 
Answer: D 
Explanation: 
Reference: 
https://www.techtarget.com/searchnetworking/news/252473829/Juniper-taps-Mist-Systems-for-wired-wir
eless-LAN-analytics 
 
5.Which two statements are correct about Marvis? (Choose two.) 
A. Marvis is the main configuration tool. 
B. Marvis lets you ask questions about your network. 
C. Marvis will send custom reports. 
D. Marvis can be used as a proactive monitoring tool. 
Answer: B,D 
Explanation: 
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Reference: https://www.mist.com/resources/mist-marvis-overview/ 
 
 


